IA
REREVFEMACIZEIER 1. 20222 Z0RRTTEEAE]) « KM, OB, PHORIPH1 L +F4R42 T,
15mm|7‘]/\_\%1:&$\ 3M§§ﬁiﬂﬁﬂﬁ_i\ 5171, E¢g&o

| 2: %BFEEE (BEZAENEHERBENEBERNIERSHE) .
|

|

Before strating: ‘

1. You need these tools: ‘
tweezers, long nose pliers, side cutter. PHO/PH1 cross screwdriver, 1.5mm hex wrench . double side tape. ‘
scissors, sandpaper

‘ 2. Finished painting before assembling (before painting, you should remove burrs and clean the ABS patrs) . ‘

[ 3 wmexiommsnsans.
ERERRERETAATAN
I Tips:
I Use M2X14 screw from another
side to make sure the nut is

l fastening. k HiH#mR B

embed nut-m2
i ————

—— ——

\\A nut-M2

TEmREH

embed nut-m2

nut-M2 R
nut-M2 &

M2 X8
% put-M2

embed nut-m2

nut-M2

Him2 Bl REmEEEE (ﬁfﬂﬁlﬁﬁéﬁimi)////////
nut-M2

(cover the nut-m2 with part®, ® by M1.0
screws or ABS glue )

embed nut-m2
nut-M2
nut-M2

STEP 01

FIETERME®, OFBIFH
Finish part A and B after step 01 J

For RCC 5 Doors 1/5



